50

iy
o
o

< OX>(Um)
[
S

[e2]
o
T

N
o

20

Sum of trac% p, (GeVv)

% 12
o

1

0.8

Bl ﬁ'WB'T%z“%Ess

> u
a C
IS L
~ 40
£ [
3 L
A r.
/. 30f
° C
v [
20
10F
o
o -10f
3 ¥
04 o
0.8
0.6F
— = 3
Sum of track p_ (Ge\%)
=
—V _
= 100
. L
5 [
£ 80
= L
/\ -
> 60
Pe) -
v L
AOf-+fi-iieb
20-_ .........................
o
i) 1=
T [
a4 C
0.5_—'

(o]
T

-+

I I:2 — 3
10 Sum of track p_ (Ge\}')0

50

<0 2z>(um) for PV
o

-100|

-150

B e P A

o200 T
& X : :
i T o
N : T
0.95 HH T
10?

TTT T T T T T[T T LT[ T T[T T[T T TTTT TTTIT[TTTT

2
1 10 Sum of tralc(i)( p, (GeV)

<0z>(um)
[
S

o
L L L L L L L LU

Ratiq
PP
NN
1 I

osf I : T\qH

2
1 10 Sum of tralc?<p (GeV)
T

< 0y > for merged vertices (um)
3
o

|
o]
o
o

o

.............

Ratig,
P PO
PN N )

o

ettt

il
LI

Iy

400

200

o

N
o
o

> jor merged vertices (um)

400

§L(1Jm of track p_ (Ge\;‘)0



	Contents
	Page 1


